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Case Study
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Thistop 50 tokenis aleaderinglobal gaming,
built on Ethereum.

The Problem

N L —

Despite being a wellknown name, this foundation needed help to kick-start TVL onto their chaintoenable
theircommunity and investors to interact with the chain. Foundations typically attract on-chainliquidity
through reward programs funded by their treasury for liquidity mining, stakingincentives, and yield
farming. Suchrewards entice usersto deposit assets, boosting TVL metrics.

While effectiveinitially, this strategy can be unsustainable long-term since continually providing liquidity
rewards inevitably depletes the foundation’s treasury, and as soon as rewards stop, much of thisincentivized
TVL also disappears, creating arather fragile ecosystem.

The Solution
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We architected an alternative strategy for the project to seed TVL for theirchain and create the
desired trading experience for their community. Instead of continuously paying high rewards to
attract/retain liquidity, the foundation allocates their funds directly onto their chainvia their
preferred DEX venues and liquidity pool pairs.

To ensure this capital consistently enables the desired trading experience for their community
(stableliquidity for average trade sizes and slippage targets), we deployed the following
systematic strategies

-7V DEFILP strategies to continuously manage/rebalance the pools and achieve desired price
range andslippage KPI's

~72) Impermanent loss hedging strategies to preserve their desired capital exposure.
~~3 Cross-exchange arbitrage strategies to align prices and generate returns.

The Results
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Clientis able to save several million dollars annually by directly providing the TVL to their chain
while their capital continues to be productive, providing them the same market exposure asif it
were still sittingin theirtreasury.

Since this strategy has worked well for the foundation, we arereplicating this framework for
other large foundations while adaptingitto their specific needs.



